

## Dunkl-Williams inequality for operators associated with $r$ -angular distance

**Junmin Han\***

*School of Mathematics and Information Sciences  
Weifang University  
Weifang, 261061  
P. R. China  
goodlucktotoro@126.com*

**Xuyang Sun**

*School of Mathematics and Physics  
Suzhou University of Science and Technology  
Suzhou, 215009  
P. R. China  
792488252@qq.com*

**Abstract.** In this paper, We present several operator versions of the Dunkl-Williams inequality with respect to the  $r$ -angular distance for operators. We obtain refinements of some operator inequalities presented by Jiang and Zou.

**Keywords:** Dunkl-Williams inequality,  $R$ -angular distance, operator inequalities.

### 1. Introduction

Let  $B(H)$  be the algebra of all bounded linear operators acting on a complex Hilbert space  $H$ . For  $A \in B(H)$ , we denote the absolute value operator of  $A$  by  $|A|$ , that is,  $|A| = (A^*A)^{\frac{1}{2}}$ , where  $A^*$  stands for the adjoint operator of  $A$ . Throughout this paper, we assume that  $p, q \in \mathbb{R}$  with  $\frac{1}{p} + \frac{1}{q} = 1$ .

In 1964, Dunkl and Williams [2] showed that for any nonzero elements  $x, y$  in a normed linear space  $X$ ,

$$(1.1) \quad \left\| \frac{x}{\|x\|} \right\| - \left\| \frac{y}{\|y\|} \right\| \leq \frac{4\|x - y\|}{\|x\| + \|y\|}.$$

Pečarić and Rajić [9] gave the following refinement of (1.1): For any nonzero elements  $x, y$  in a normed linear space  $X$ ,

$$(1.2) \quad \left\| \frac{x}{\|x\|} \right\| - \left\| \frac{y}{\|y\|} \right\| \leq \frac{(2\|x - y\|^2 + 2(\|x\| - \|y\|)^2)^{\frac{1}{2}}}{\max\{\|x\|, \|y\|\}}.$$

Also they introduced an operator version of (1.2) by estimating  $|A|A|^{-1} - B|B|^{-1}$ ,

$$(1.3) \quad |A|A|^{-1} - B|B|^{-1}|^2 \leq |A|^{-1}(p|A - B|^2 + q(|A| - |B|^2)|A|^{-1}),$$

---

\*. Corresponding author

where  $A, B \in B(H)$  such that  $|A|$  and  $|B|$  are invertible, and  $p, q > 1$  with  $\frac{1}{p} + \frac{1}{q} = 1$ .

Saito and Tominaga [10] gave a generalization of the inequality (1.3) without additional assumptions related to inverse conditions. We would like to refer the reader to [4, 5, 6, 7, 8] and references therein for more information.

$$|(U - V)|A||^2 \leq p|A - B|^2 + q(|A| - |B|)^2,$$

where  $A, B \in B(H)$  with polar decomposition  $A = U|A|$  and  $B = V|B|$ , and  $p, q > 1$  with  $\frac{1}{p} + \frac{1}{q} = 1$ .

Dadipour, Fujii and Moslehian [1] introduced operator versions of the Dunkl-Williams inequality with respect to the  $r$ -angular distance as a generalization of both the main result of Saito and Tominaga.

$$(1.4) \quad |(U|A|^r - V|B|^r)|A|^{1-r}|^2 \leq p|A - B|^2 + q||B|^r|A|^{1-r} - |B||^2,$$

where  $A, B \in B(H)$  with polar decomposition  $A = U|A|$  and  $B = V|B|$ ,  $0 < r \leq 1$ ,  $p > 1$  and  $\frac{1}{p} + \frac{1}{q} = 1$ .

Recently, Jiang and Zou [11] gave refinements of some operator inequalities presented by Zou, He and Qaisar [12] as follows:

**Theorem A.** Let  $A, B \in B(H)$  be operators with the polar decompositions  $A = U|A|$  and  $B = V|B|$ . If  $q > 0$ , then

$$(1.5) \quad |(U - V)|A||^2 + \frac{q}{p} |(1 - p)(A - B) - V(|A| - |B|)|^2 \leq p|A - B|^2 + q||A| - |B||^2.$$

If  $q < 0$ , then

$$(1.6) \quad |(U - V)|A||^2 + \frac{q}{p} |(1 - p)V(|A| - |B|) - (A - B)|^2 \leq q|A - B|^2 + p||A| - |B||^2.$$

**Theorem B.** Let  $A, B \in B(H)$  be operators with the polar decompositions  $A = U|A|$  and  $B = V|B|$ . If  $p < 0$ , then

$$(1.7) \quad p(|A| - |B|)^2 + q|A - B|^2 - \frac{q}{p} |(1 - p)V(|A| - |B|) - (A - B)|^2 \leq |(U - V)|A||^2.$$

If  $0 < p < 1$ , then

$$(1.8) \quad p|A - B|^2 + q||A| - |B||^2 - \frac{q}{p} |(1 - p)(A - B) - V(|A| - |B|)|^2 \leq |(U - V)|A||^2.$$

If  $1 < p \leq 2$ , then

$$(1.9) \quad p|A - B|^2 + q|V(|A| - |B|)|^2 - \frac{p + 2}{2q} |(A - B) - (1 - q)V(|A| - |B|)|^2 \leq |(U - V)|A||^2.$$

If  $p > 2$ , then

$$(1.10) \quad p|A - B|^2 + q|V(|A| - |B|)|^2 - \frac{q+2}{2p}|(1-p)(A-B) - V(|A| - |B|)|^2 \leq |(U - V)|A|^2.$$

In this paper, We present several operator versions of the Dunkl-Williams inequality with respect to the  $r$ -angular distance for operators. We obtain refinements of some operator inequalities presented by Jiang and Zou [11].

## 2. Main results

In this section, we consider Dunkl-Williams inequality for operators as an application of the generalized parallelogram law of operators [3]:

$$(2.1) \quad |T_1 - T_2|^2 + \frac{1}{t}|tT_1 + T_2|^2 = (1+t)|T_1|^2 + (1 + \frac{1}{t})|T_2|^2.$$

Applying the above generalized parallelogram law of operators, we can get the following lemma:

**Lemma 2.1.** *Let  $A, B \in B(H)$  be operators with the polar decompositions  $A = U|A|$  and  $B = V|B|$ , and let  $0 \leq r \leq 1$  and  $p, q \in \mathbb{R}$  with  $\frac{1}{p} + \frac{1}{q} = 1$ . Then*

$$(2.2) \quad |(U|A|^r - V|B|^r)|A|^{1-r}|^2 + \frac{q}{p}|(1-p)(A-B) - V(|B|^r|A|^{1-r} - |B|)|^2 = p|A - B|^2 + q|V(|B|^r|A|^{1-r} - |B|)|^2$$

and

$$(2.3) \quad |(U|A|^r - V|B|^r)|A|^{1-r}|^2 + \frac{q}{p}|(1-p)V(|B|^r|A|^{1-r} - |B|) - (A - B)|^2 = q|A - B|^2 + p|V(|B|^r|A|^{1-r} - |B|)|^2$$

**Proof.** Putting  $T_1 = A - B, T_2 = V(|B|^r|A|^{1-r} - |B|), p = 1 + t$  and  $q = 1 + \frac{1}{t}$  in (2.1), then we have

$$|(A - B) - V(|B|^r|A|^{1-r} - |B|)|^2 + \frac{q}{p}|(1-p)(A - B) - V(|B|^r|A|^{1-r} - |B|)|^2 = p|A - B|^2 + q|V(|B|^r|A|^{1-r} - |B|)|^2.$$

Note that

$$|(U|A|^r - V|B|^r)|A|^{1-r}|^2 = |U|A| - V|B|^r|A|^{1-r}|^2 = |A - V|B|^r|A|^{1-r}|^2 = |(A - B) - V|B|^r|A|^{1-r} + B|^2 = |(A - B) - V(|B|^r|A|^{1-r} - |B|)|^2.$$

The combination of above two equalities gives  $|(U|A|^r - V|B|^r)|A|^{1-r}|^2 + \frac{q}{p}|(1-p)V(|B|^r|A|^{1-r} - |B|) - (A - B)|^2 = p|A - B|^2 + q|V(|B|^r|A|^{1-r} - |B|)|^2$ .

By putting  $T_1 = V(|B|^r|A|^{1-r} - |B|)$ ,  $T_2 = A - B$ ,  $p = 1 + t$  and  $q = 1 + \frac{1}{t}$  in (2.1), we can obtain the equality (2.3) in a similar way.

This completes the proof.  $\square$

**Remark 2.2.** Note that  $p > 1$  implies  $q > 1$ , so the identity (2.2) gives immediately the inequality (1.4):

$$|(U|A|^r - V|B|^r)|A|^{1-r}|^2 \leq p|A - B|^2 + q||B|^r|A|^{1-r} - |B||^2.$$

**Theorem 2.3.** Let  $A, B \in B(H)$  be operators with the polar decompositions  $A = U|A|$  and  $B = V|B|$ ,  $0 \leq r \leq 1$ . If  $q > 0$ , then

$$(2.4) \quad \begin{aligned} & |(U|A|^r - V|B|^r)|A|^{1-r}|^2 + \frac{q}{p}|(1-p)(A - B) - V(|B|^r|A|^{1-r} - |B|)|^2 \\ & \leq p|A - B|^2 + q||B|^r|A|^{1-r} - |B||^2. \end{aligned}$$

If  $q < 0$ , then

$$(2.5) \quad \begin{aligned} & |(U|A|^r - V|B|^r)|A|^{1-r}|^2 + \frac{q}{p}|(1-p)V(|B|^r|A|^{1-r} - |B|) - (A - B)|^2 \\ & \leq q|A - B|^2 + p||B|^r|A|^{1-r} - |B||^2. \end{aligned}$$

**Proof.** If  $q > 0$ , since  $V^*V \leq I$ , we get

$$(2.6) \quad \begin{aligned} |V(|B|^r|A|^{1-r} - |B|)|^2 &= (|B|^r|A|^{1-r} - |B|)V^*V(|B|^r|A|^{1-r} - |B|) \\ &\leq ||B|^r|A|^{1-r} - |B||^2. \end{aligned}$$

Combining with (2.2) and (2.6), we obtain

$$\begin{aligned} & |(U|A|^r - V|B|^r)|A|^{1-r}|^2 + \frac{q}{p}|(1-p)(A - B) - V(|B|^r|A|^{1-r} - |B|)|^2 \\ & \leq p|A - B|^2 + q||B|^r|A|^{1-r} - |B||^2. \end{aligned}$$

Because  $q < 0$  implies  $0 < p < 1$ , Combining with (2.3) and (2.6), we have

$$\begin{aligned} & |(U|A|^r - V|B|^r)|A|^{1-r}|^2 + \frac{q}{p}|(1-p)V(|B|^r|A|^{1-r} - |B|) - (A - B)|^2 \\ & \leq q|A - B|^2 + p||B|^r|A|^{1-r} - |B||^2. \end{aligned}$$

**Remark 2.4.** Obviously, the inequalities (1.5) and (1.6) are special cases of the Theorem 2.2 when  $r = 0$ . Furthermore, inequality (2.4) is a refinement of inequality (1.4) when  $p > 1$ .

Next, we present some lower bounds for  $|(U|A|^r - V|B|^r)|A|^{1-r}|^2$ .

**Theorem 2.5.** Let  $A, B \in B(H)$  be operators with the polar decompositions  $A = U|A|$  and  $B = V|B|$ ,  $0 \leq r \leq 1$ . Then the following statements hold:

(i) If  $p < 0$ , then

$$(2.7) \quad \begin{aligned} & p||B|^r|A|^{1-r} - |B||^2 + q|A - B|^2 \\ & - \frac{q}{p}|(1-p)V(|B|^r|A|^{1-r} - |B|) - (A-B)|^2 \leq |(U|A|^r - V|B|^r)|A|^{1-r}|^2. \end{aligned}$$

(ii) If  $0 < p < 1$ , then

$$(2.8) \quad \begin{aligned} & q||B|^r|A|^{1-r} - |B||^2 + p|A - B|^2 - \frac{q}{p}|(1-p)(A-B) - V(|B|^r|A|^{1-r} - |B|)|^2 \\ & \leq |(U|A|^r - V|B|^r)|A|^{1-r}|^2. \end{aligned}$$

(iii) If  $1 < p \leq 2$  and  $0 < \lambda < 1$ , then

$$(2.9) \quad \begin{aligned} & q|V(|B|^r|A|^{1-r} - |B|)|^2 + p|A - B|^2 \\ & - \frac{(p-2)\lambda + 2}{q}|(A-B) - (1-q)V(|B|^r|A|^{1-r} - |B|)|^2 \\ & \leq |(U|A|^r - V|B|^r)|A|^{1-r}|^2. \end{aligned}$$

(iv) If  $p > 2$  and  $0 < \lambda < 1$ , then

$$(2.10) \quad \begin{aligned} & q|V(|B|^r|A|^{1-r} - |B|)|^2 + p|A - B|^2 \\ & - \frac{(2-q)\lambda + q}{p}|(1-p)(A-B) - V(|B|^r|A|^{1-r} - |B|)|^2 \\ & \leq |(U|A|^r - V|B|^r)|A|^{1-r}|^2. \end{aligned}$$

**Proof.** (i) Since  $V^*V \leq I$  and  $p < 0$ , we have

$$p|V(|B|^r|A|^{1-r} - |B|)|^2 \geq p||B|^r|A|^{1-r} - |B||^2$$

Combining with the above equality and (2.3), we obtain

$$\begin{aligned} & p||B|^r|A|^{1-r} - |B||^2 + q|A - B|^2 - \frac{q}{p}|(1-p)V(|B|^r|A|^{1-r} - |B|) - (A-B)|^2 \\ & \leq |(U|A|^r - V|B|^r)|A|^{1-r}|^2. \end{aligned}$$

(ii) If  $0 < p < 1$ , then  $q < 0$ . So we have

$$q|V(|B|^r|A|^{1-r} - |B|)|^2 \geq q||B|^r|A|^{1-r} - |B||^2.$$

Combining with the above equality and (2.2), we obtain

$$\begin{aligned} & q||B|^r|A|^{1-r} - |B||^2 + p|A - B|^2 - \frac{q}{p}|(1-p)(A-B) - V(|B|^r|A|^{1-r} - |B|)|^2 \\ & \leq |(U|A|^r - V|B|^r)|A|^{1-r}|^2. \end{aligned}$$

(iii) Note that

$$\frac{q}{p}|(1-p)(A-B) - V(|B|^r|A|^{1-r} - |B|)|^2 = \frac{p}{q}|(A-B) - (1-q)V(|B|^r|A|^{1-r} - |B|)|^2$$

So, the equality (2.2) implies

$$\begin{aligned}
 & |(U|A|^r - V|B|^r)|A|^{1-r}|^2 = p|A - B|^2 + q|V(|B|^r|A|^{1-r} - |B|)|^2 \\
 (2.11) \quad & - \frac{q}{p}\lambda|(1-p)(A - B) - V(|B|^r|A|^{1-r} - |B|)|^2 \\
 & - \frac{p}{q}(1-\lambda)|(A - B) - (1-q)V(|B|^r|A|^{1-r} - |B|)|^2.
 \end{aligned}$$

If  $1 < p \leq 2$  and  $0 < \lambda < 1$ , then we have

$$\begin{aligned}
 & |(U|A|^r - V|B|^r)|A|^{1-r}|^2 \geq p|A - B|^2 + q|V(|B|^r|A|^{1-r} - |B|)|^2 \\
 & - \frac{q}{p}\lambda|(1-p)(A - B) - V(|B|^r|A|^{1-r} - |B|)|^2 \\
 & - \frac{2}{q}(1-\lambda)|(A - B) - (1-q)V(|B|^r|A|^{1-r} - |B|)|^2 \\
 & = p|A - B|^2 + q|V(|B|^r|A|^{1-r} - |B|)|^2 - \frac{(p-2)\lambda + 2}{q}|(A - B) \\
 & - (1-q)V(|B|^r|A|^{1-r} - |B|)|^2.
 \end{aligned}$$

(iv) If  $p > 2$  and  $0 < \lambda < 1$ , then  $1 < q < 2$ . By equality (2.11), we also have

$$\begin{aligned}
 & |(U|A|^r - V|B|^r)|A|^{1-r}|^2 \geq p|A - B|^2 + q|V(|B|^r|A|^{1-r} - |B|)|^2 \\
 & - \frac{2}{p}\lambda|(1-p)(A - B) - V(|B|^r|A|^{1-r} - |B|)|^2 \\
 & - \frac{2}{q}(1-\lambda)|(A - B) - (1-q)V(|B|^r|A|^{1-r} - |B|)|^2 \\
 & = p|A - B|^2 + q|V(|B|^r|A|^{1-r} - |B|)|^2 \\
 & - \frac{(2-q)\lambda + q}{p}|(1-p)(A - B) - V(|B|^r|A|^{1-r} - |B|)|^2.
 \end{aligned}$$

**Remark 2.6.** It is easy to see that the Theorem B is a special case of the Theorem 2.5 when  $r = 0$  and  $\lambda = \frac{1}{2}$ . In addition, inequalities (2.9) and (2.10) are refinements of inequalities (1.9) and (1.10) respectively when  $r = 0$  and  $\lambda > \frac{1}{2}$ .

**Remark 2.7.** Since  $p < 0$  implies  $0 < q < 1$ ,  $0 < p < 1$  implies  $q < 0$ ,  $1 < p \leq 2$  implies  $q \geq 2$ , and  $p > 2$  implies  $0 < q < 2$ , combining with Theorems 2.3 and 2.5, we have the following results.

If  $p < 0$ , then

$$\begin{aligned}
 & p||B|^r|A|^{1-r} - |B||^2 + q|A - B|^2 - \frac{q}{p}|(1-p)V(|B|^r|A|^{1-r} - |B|) - (A - B)|^2 \\
 & \leq |(U|A|^r - V|B|^r)|A|^{1-r}|^2 \\
 & \leq p|A - B|^2 + q||B|^r|A|^{1-r} - |B||^2 - \frac{q}{p}|(1-p)(A - B) - V(|B|^r|A|^{1-r} - |B|)|^2.
 \end{aligned}$$

If  $0 < p < 1$ , then

$$\begin{aligned} & q\| |B|^r |A|^{1-r} - |B| \|^2 + p|A - B|^2 - \frac{q}{p} |(1-p)(A - B) - V(|B|^r |A|^{1-r} - |B|)|^2 \\ & \leq |(U|A|^r - V|B|^r)|A|^{1-r}|^2 \\ & \leq q|A - B|^2 + p\| |B|^r |A|^{1-r} - |B| \|^2 - \frac{q}{p} |(1-p)V(|B|^r |A|^{1-r} - |B|) - (A - B)|^2. \end{aligned}$$

If  $1 < p \leq 2$  and  $0 < \lambda < 1$ , then

$$\begin{aligned} & q|V(|B|^r |A|^{1-r} - |B|)|^2 + p|A - B|^2 \\ & - \frac{(p-2)\lambda + 2}{q} |(A - B) - (1-q)V(|B|^r |A|^{1-r} - |B|)|^2 \\ & \leq |(U|A|^r - V|B|^r)|A|^{1-r}|^2 \\ & \leq p|A - B|^2 + q\| |B|^r |A|^{1-r} - |B| \|^2 - \frac{q}{p} |(1-p)(A - B) - V(|B|^r |A|^{1-r} - |B|)|^2. \end{aligned}$$

If  $p > 2$  and  $0 < \lambda < 1$ , then

$$\begin{aligned} & q|V(|B|^r |A|^{1-r} - |B|)|^2 + p|A - B|^2 \\ & - \frac{(2-q)\lambda + q}{p} |(1-p)(A - B) - V(|B|^r |A|^{1-r} - |B|)|^2 \\ & \leq |(U|A|^r - V|B|^r)|A|^{1-r}|^2 \\ & \leq p|A - B|^2 + q\| |B|^r |A|^{1-r} - |B| \|^2 - \frac{q}{p} |(1-p)(A - B) - V(|B|^r |A|^{1-r} - |B|)|^2. \end{aligned}$$

### Acknowledgements

The authors sincerely thank referee for his/her valuable comments. The project is supported by Natural Science Foundation of Shandong Province (No. BS 2015 SF006) and National Natural Science Foundation of China, Tian Yuan Foundation(No. 11226087).

### References

- [1] F. Dadipour, M. Fujii, M. S. Moslehian, *Dunkl-Williams inequality for operators associated with  $p$ -angular distance*, Nihonkai Math. J., 21 (2010), 11-20.
- [2] C. F. Dunkl, K. S. Williams, *A simple norm inequality*, Amer. Math. Monthly., 71 (1964), 53-54.
- [3] M. Fujii, H. Zuo, *Matrix order in Bohr inequality for operators*, Banach J. Math. Anal., 4 (2010), 21-27.
- [4] A.R. Gairola, Deepmala, L.N. Mishra, *Rate of approximation by finite iterates of  $q$ -Durrmeyer operators*, Proc. Natl. Acad. Sci., India, Sect. A Phys. Sci., 86 (2016), 229-234.

- [5] A.R. Gairola, Deepmala, L.N. Mishra, *On the  $q$ -derivatives of a certain linear positive operators*, Iranian Journal of Science Technology, Transactions A: Science, 42 (2018), 1409-1417.
- [6] V.N. Mishra, K. Khatri, L.N. Mishra, *On simultaneous approximation for Baskakov-Durrmeyer-Stancu type operators*, Journal of Ultra Scientist of Physical Sciences, 24 (2012), 567-577.
- [7] V.N. Mishra, K. Khatri, L.N. Mishra, Deepmala, *Inverse result in simultaneous approximation by Baskakov-Durrmeyer-Stancu operators*, Journal of Inequalities and Applications, 2013, 586.
- [8] V.N. Mishra, S. Pandey, I.A. Khan, *On a modification of Dunkl generalization of Szász operators via  $q$ -calculus*, European J. Pure Appl. Math., 10 (2017), 1067-1077.
- [9] J. Pečarić, R. Rajić, *Inequalities of the Dunkl-Williams type for absolute value operators*, J. Math. Inequal., 4 (2010) 1-10.
- [10] K.-S. Saito, M. Tominaga, *A Dunkl-Williams type inequality for absolute value operators*, Linear Algebra Appl., 432 (2010) 3258-3264.
- [11] Y. Jiang, L. Zou, *Dunkl-Williams type inequalities for operator*, J. Math. Inequal., 9 (2015) 345-350.
- [12] L. Zou, C. He, S. Qaisar, *Inequalities for absolute value operators*, Linear Algebra Appl., 438 (2013), 436-442.

Accepted: 17.06.2019